### Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 4 - Central Buchan

4,850

4

971

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Marion Anne BUCHAN	Scottish Conservative and Unionist	1,808
Jim INGRAM	Scottish National Party (SNP)	1,188
Lenny PIRIE	Scottish National Party (SNP)	486
Anne Margaret SIMPSON	Scottish Liberal Democrats	505
Norman SMITH	Independent	863
	Tota	4,850

Candidate Marion Anne BUCHAN Elected with 1,808 votes, being in excess of the quota of 971 Candidate Jim INGRAM Elected with 1,188 votes, being in excess of the quota of 971

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Marion Anne BUCHAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Marion Anne BUCHAN	0	0.00000	0.00000
Transfer to Jim INGRAM	0	0.00000	0.00000
Transfer to Lenny PIRIE	70	0.46294	32.40580
Transfer to Anne Margaret SIMPSON	551	0.46294	255.07994
Transfer to Norman SMITH	584	0.46294	270.35696
Value of non-transferable ballot papers			279.15730
	Total		837.00000

# Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Jim INGRAM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Marion Anne BUCHAN	0	0.00000	0.00000
Transfer to Jim INGRAM	0	0.00000	0.00000
Transfer to Lenny PIRIE	993	0.18265	181.37145
Transfer to Anne Margaret SIMPSON	95	0.18265	17.35175
Transfer to Norman SMITH	0	0.00000	0.00000
Value of non-transferable ballot papers			18.27680
	Total		217.00000

# Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Norman SMITH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Marion Anne BUCHAN	0	0.00000	0.00000
Transfer to Jim INGRAM	0	0.00000	0.00000
Transfer to Lenny PIRIE	20	0.06631	1.32620
Transfer to Lenny PIRIE	187	0.14325	26.78775
Transfer to Anne Margaret SIMPSON	310	0.06631	20.55610
Transfer to Anne Margaret SIMPSON	394	0.14325	56.44050
Transfer to Norman SMITH	0	0.00000	0.00000
Value of non-transferable ballot papers			57.24641
	Total		162.35696

# Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Lenny PIRIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Marion Anne BUCHAN	0	0.00000	0.00000
Transfer to Jim INGRAM	0	0.00000	0.00000
Transfer to Anne Margaret SIMPSON	13	0.06631	0.86203
Transfer to Anne Margaret SIMPSON	96	0.14325	13.75200
Transfer to Anne Margaret SIMPSON	453	0.18265	82.74045
Transfer to Anne Margaret SIMPSON	34	0.46294	15.73996
Transfer to Anne Margaret SIMPSON	201	1.00000	201.00000
Transfer to Norman SMITH	0	0.00000	0.00000
Value of non-transferable ballot papers			413.79676
	Total		727.89120